
 4.27 Unit 4B Test Review WS #3(Solving Trig Equations)  

Solve on the interval [0, 2π) 

1) 20,08sec4 =+ xx    2) 3 cot2 x – 1 = 0 

 

 

 

 

 

 

 

 

3) ( ) ( )tan 2sin 0x x + + + =      4)     csc2x = csc 𝑥 + 2 

 

 

 

 

 

 

 

 

 

 

 

5) 𝑠𝑖𝑛2𝑥 − 5 cos 𝑥 = 5        6) 𝑐𝑜𝑡23𝑥 = 3   

 

 

 

 

 

 

 

 

 

 

 



7) Solve on the interval [0, 2π)    sec 3𝜃 =  −1 

 

 

 

 

 

 

Solve the equations for all values of the variable 

8) sin 2x – cos x = 0          9) sin 2𝑥 = 2 tan
5𝜋
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10)    2𝑐𝑜𝑠2𝑥 − 3 cos 𝑥 = −1         11)   cos 2𝑥 − cos 𝑥 = 0   

 

 

 

 

 

 

12)  
3

sin cos 0
2 2

x x
    

+ − + =   
   

 

 

 

 

 

 

 

 



Trigonometric Identities 

Reciprocal Identities:        Quotient Identities:  

sin θ = 
1

csc 𝜃  
cos θ =  

1

sec 𝜃
  tan θ =  

1

cot 𝜃
   tan θ =  

sin 𝜃

cos 𝜃
                     

csc θ = 
1

sin 𝜃
  sec θ =  

1

cos 𝜃
  cot θ =  

1

tan 𝜃
   cot θ =  

cos 𝜃

sin 𝜃
  

Pythagorean Identities: 

sin2  θ + cos2 θ = 1   tan2 θ + 1 = sec2 θ   1 + cot2 θ = csc2 θ  

Sum & Difference Identities:     

sin (α  β) = sin α cos β  cos α sin β        cos (α  β) = cos α cos β   sin α sin β   

  tan (α  β) = 
tan 𝛼 ± tan 𝛽

 1 ∓ tan 𝛼 tan 𝛽 
 

Double-Angle Identities:   

sin 2θ = 2 sin θ cos θ   cos 2θ = cos2 θ – sin2 θ   tan 2θ = 
2 tan 𝜃

1−tan2 𝜃
  

 = 2 cos2 θ – 1   

 = 1 – 2 sin2 θ 

 


